
Hypothesis:
Calibration is completed during Active time because calibration time is typ 3ms.
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No problem

Hypothesis:
Calibration is not completed at Active time, so transition time increases.

Hypothesis:
The above and the guard time (3ms) do not comply with the datasheet, so 
transition time increases.
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Hypothesis:
Calibration is not performed, so the transition time is not increased. It works fine.
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Hypothesis:
Calibration is not completed at Active time, so transition time increases.

Hypothesis:
The above and Guard time (3ms) are not followed, so transition time increases.

If the transition time is increased, interrupt may happen at 
the "Cannot be interrupted" timing in "Fixed time".
If this happens, the device will miss the compare event and 
will not wake up from PM2.

Clock was carefully checked, but problems were not found.

If there are any other possible factors, 
please let me know.




